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RRB NTPC Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (a) ›y˜îöì”öì£îû ˜y£zöìÝþÆyöì‹˜!î£#˜ î‹ÅÄ þ™”yíÅ !„þöìÝþy˜ î!vþ–
„þyîÅ̃  vþy£zx:y£zvþÐ ~Šéyvþüy £zvþz!îûëûy– £zvþz!îû„þ xÄy!¢vþ–
˜y£zöìÝþÆyöì‹˜ ë%_« öîû‰þ˜ þ™”yíÅÐ

2. (a) !‹öì¦þîû x@ùÌ¦þy† x‚öìŸ !›ÜTöìcîû ßþºy”öì„þyîû„þ xîßþiy˜ „þöìîûÐ
3. (a) ßþºy›# ”ëûy˜¨ ¢îûßþº“þ# öîyÁºy£zöì“þ xyëÅ ¢›y‹ ²Ì!“þÛþy „þöìîû̃

(1917 !…ÊÞÝþyöì·VÐ !“þ!˜ Ö!kþ xyöì̈ yœöì̃ îû ‹˜„þÐ ~Šéyvþüyç
¢“þÄyíÅ ²Ì„þyŸ ç öî” ¦þy¡ìÄ ˜y›„þ !£!¨ @ùÌöìsþi “þyîû •›Å#ëû
›“þy”ŸÅ ²Ì„þy!Ÿ“þ £öìëûöìŠéÐ ÷î!”„þ ë%öì† öšþöìîûy ößþÔy†y˜!Ýþç
“¤þyîû îû!‰þ“þÐ

4. (a) îûyÜTÉ„,þ“þÄ„þ îy Public Service ¢Á™!„Åþ“þ !î¡ìëû!Ýþ ¦þyîû“þ#ëû
¢‚!î•yöì̃ îû 308-323 •yîûyëû xyöìœy!‰þ“þ £öìëûöìŠéÐ

5. (a) îyëû%îû “þyþ™›yey îyvþüöìœ Ÿöì·îû öî† îyöìvþüÐ
6. (d) !ÞÝþöìœ Ÿöì·îû öî† ¢îöì‰þöìëû öî!ŸÐ !ÞÝþöìœ Ÿöì·îû öî†

5100 !›Ýþyîû/ö¢öì„þuþÐ
7. (c) ›y˜%öì¡ìîû „þy˜ ¢y•yîû’“þ 20Hz öíöì„þ 20000Hz „þÁ™yöìBþîû

Ÿ· Ö˜öì“þ þ™yöìîûÐ
8. (d) ¢Á±!“þ ‘PEN Pinter’ þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜ xîû&õþ“þ#

îûyëûÐ
9. (a) DNA replication þ™kþ!“þöì“þ £y£zöìvÈþyöì‹˜ îõþ˜ ö¦þöì̂

ëyëûÐ
10. (b) “þ!vþüê !îöìÙÕ¡ìöì’îû ¢)e xy!îÜñyîû „þöìîû̃  šþÄyîûyöìvþÐ
11. (b) £zíy˜öìœîû ~„þ!Ýþ xy£zöì¢y›yîû £œ vþy£zéôé!›íy£zœ £zíyîûÐ
12. (d) xÄyöì„þyëûy !îû!‹ëûy !“þ˜ xyëû“þ˜ £y£zöìvÈþyöì„Ïþy!îû„þ xÄy!¢vþ

(HCl) ~î‚ ~„þ xyëû“þ˜ ˜y£z!ÝþÆ„þ xÄy!¢vþ (HNO3)éôé~îû
!›×’Ð

13. (c) îûöì_«îû x!“þ!îû_« @Õ%öì„þy‹ ë„,þöì“þ @Õy£zöì„þyöì‹˜ îû*öìþ™ ¢!Mþé“þ
íyöì„þÐ

14. (c) î¨#öì„þ ¢Ÿîû#öìîû £y!‹îû „þîû&˜Ð ~!Ýþ ~„þ!Ýþ £z‚öìîû!‹ Ÿ·Ð
Have the body present xíÅyê ¢Ÿîû#öìîû £y!‹îû „þîûyÐ

15. (d) 1995 ¢yöìœ
16. (b) 2024 ¢yöìœ çëûyÓÅþ £zöì„þy˜!›„þ öšþyîûyöì›îû “þîûöìšþ ²Ì„þy!Ÿ“þ

ö@Õyîyœ ~˜y!‹Å ÝþÆy˜!‹Ÿ˜ £z̃ öìvþöì: ¦þyîû“þ 63“þ› ßþiy˜
x!•„þyîû „þöìîûöìŠéÐ

17. (d) çþ™öìîûîû ¢î=!œ
18. (c) þ™“þöìDîû vþy˜yÐ

¢›¢‚ßþi xD ­ ‹#îöì”öì£îû öë ¢î xöìDîû vþzêþ™!_ßþiœ ~„þ
!„þlsþ †àþ˜ ç „þyöì‹îû !¦þ§¬“þy ö”…y ëyëû “þyöì”îû ¢›¢‚ßþi xD
îöìœÐ

19. (c) !¢öìîûy£# ˜ÄyŸ˜yœ þ™y„Åþ S›!’þ™%îûVÐ ¦þyîûöì“þîû ²Ìí› ˜ÄyŸ˜yœ
þ™y„Åþ £œ !‹› „þîûöìîÝþ (1936)Ð ¦þyîûöì“þîû ö›yÝþ ˜ÄyŸ˜yœ
þ™yöì„Åþîû ¢‚…Äy 104Ð

20. (b) þ™yîû›y’!î„þ ¢‚…Äy
ö„þyöì̃ y ö›ïöìœîû þ™îû›y’%îû !˜vþz!„Ïþëûyöì¢ vþzþ™!ßþi“þ ö²ÌyÝþ˜ ¢‚…Äyöì„þ
ö›ïœ!Ýþîû þ™yîû›y’!î„þ ¢‚…Äy îöìœÐ

21. (a) ßþºy•#˜ ¦þyîûöì“þ ²Ìí› xy£z̃  „þ!›Ÿ˜ (Law Commission)
†!àþ“þ £öìëû!Šéœ 1955 ¢yöìœÐ

22. (a) ßþºy•#˜ ¦þyîûöì“þîû ²Ìí› xíÅ÷ì̃ !“þ„þ îyöì‹Ýþ vþzþ™ßþiy!þ™“þ „þöìîû̃
xyîû ö„þ ¢Á¿%…› ö‰þ!RÐ

23. (a) !vþÁºyŸëû @ùÌ!sþi öíöì„þ !îûœÄy!:˜ £îûöì›y˜ Çþ!îû“þ £ëûÐ ~£z
£îûöì›y˜ †¦Åþyîßþiyëû ö×y!˜îõþ˜ !Ÿ!íœ „þöìîû ç ‹îûyëû%îû öþ™!Ÿ
¢‚öì„þy‰þöì̃  îy•y ö”ëûÐ

24. (b) ¢Á±!“þ ×#˜†îû çëûyÓÅþ e«yšþÝþ !¢!Ýþîû “þ„þ›y x‹Å̃  „þîûœÐ
25. (c) O2 ~î‚ O3 £œ xÄyöìœyöìÝþÆyöìþ™îû vþz”y£îû’Ð
26. (a) H2O ëyîû xíÅ ~îû ²Ì!“þ!Ýþ x’%öì“þ ~„þ!Ýþ x!:öì‹˜ ~î‚ ”%!Ýþ

£y£zöìvÈþyöì‹˜ þ™îû›y’% ¢‚ë%_« íyöì„þÐ
27. (b) !œ„%þ£zšþy£zvþ öþ™öìÝþÆy!œëûy› †Äy¢ îy !œ„%þ£zvþ öþ™öìÝþÆy!œëûy›

†Äy¢ (LPG xíîy LP †Äy¢V xíÅyê ‰þyöìþ™ “þîûœ#„,þ“þ ‹µyœy˜#
†Äy¢Ð ëy ö²Ìyöìþ™˜ ç !îvþzöìÝþ˜ îy ~öì”îû !›×’öì„þ !˜öì”ÅŸ
„þöìîûÐ

28. (a) ¢yîy˜ ÷“þ!îûîû ‹˜Ä ˜yîûöì„þœ ö“þœ– !“þœ ö“þœ– “%þœy î#‹
ö“þœ– ²Ìy’#‹ ‰þ!îÅ îÄî£yîû „þîûy £ëûÐ

29. (b) ‹ëû²Ì„þyŸ ˜yîûyëû’ (11 xöìQyîîû 1902 öíöì„þ 8 xöìQyîîû–
1979) !“þ!˜ ö‹ !þ™ îy öœy„þ˜yëû„þ ˜yöì› þ™!îû!‰þ“þÐ

30. (d) ö”£ö ì„ þyö ìŸî û !v þ² Õö ìë ûv þ !˜vþ z !„ Ï þëû y¢ö ì„ þ îœy £ë û
ö£öìÝþöìîûy„þÄy!îûëû̃ Ð

31. (a) ¢yöìœy„þ¢‚öìÙÕöì¡ì ¢Çþ› ²Ìy’# £œ £zvþz!@Õ˜yÐ
32. (c) 21 ‹%œy£z öíöì„þ 31 ‹%œy£z þ™ëÅhsþ ¦þyîû“þ ˜“%þ˜ !”!ÍÔöì“þ

£zvþzöì̃ öìßþñy çëûyÓÅþ ö£!îûöìÝþ‹ „þ!›!Ýþîû 36“þ› x!•öìîŸ˜
xyöìëûy!‹“þ £œÐ

33. (b) ¦þy£zîûy¢‡!Ýþ“þ x¢%… £œ £z̃ šÏ$þöìëûOy– !‰þöì„þ˜þ™:– ~£zvþ¢–
£y›¢– ö£þ™yÝþy£z!Ýþ¢ ²Ì¦,þ!“þÐ

34. (b) ›y˜îöì”öì£îû ›)öìeîû pH £œéôôôé 6.00
îûöì_«îû pH £œéôôôé 7.35-7.45

35. (c) íy£z!›˜ RNA ~îû †àþöì̃  þ™yçëûy ëyëû ˜yÐ
36. (b) ‹öìœîû xyöìþ™!Çþ„þ “þyþ™ ¢îöì‰þöìëû öî!ŸÐ ‹öìœîû xyöìþ™!Çþ„þ

“þyþ™ 4°CÐ
37. (d) xyœšþy „þ’y !îFŠ%éîûöì’îû þ™îû#Çþy!Ýþ „þöìîû!Šéöìœ˜ xyöì̃ ÅÞÝþ

îûy”yîûöìšþyvÅþÐ
38. (c) ö›yÝþîû †y!vþüîû !¦þvþzéôéšþy£zuþyîû!Ýþ £œ ~„þ!Ýþé vþz_œ ”þ™Å’Ð
39. (b) Rh šþÄyQîû xy!îÜñyîû „þöìîû̃  „þyœÅ œÄyuþ öÞÝþ£z̃ yîû ç vþz£z̃ yîûÐ
40. (d) ¦þyîû“þ#ëû þ™%îû&¡ì !e«öì„þÝþ ”öìœîû ˜“%þ˜ ²Ì•y˜ ö„þy‰þ !£öì¢öìî

!˜ë%_« £öìœ˜ ö†ï“þ› †½þ#îûÐ

xÄy!‰þ¦þy¢Å
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41. (a) ~…yöì̃  !“þ˜!Ýþ Series xyöìŠéÐ
²Ìí›!Ýþ 2, 2 × 2 = 4, 2 × 4 = 8
!m“þ#ëû!Ýþ 3, 3 × 2 = 6, 3 × 4 = 12
“,þ“þ#ëû!Ýþ 4, 4 × 2 = 8, 4 × 4 = 16
 ˜Áºîû!Ýþ 9 £öìî ˜y £öìî 8

42. (b)
(i) 3

+3
6 11 18

+5 +7 +9
27

(ii) F
+1

G I L
+2 +3 +4

P

43. (a) ~…yöì̃  ”%!Ýþ Series xyöìŠéÐ
(i) 6 6 × 2 12 18 246 × 3 6 × 4 6 × 5 30

(ii) A +2 C E G I+2 +2 +2
44. (d)

Q ~îû ›y P

Q S

„þ˜Äy

Töîy˜

öŠéöìœ

öŠéöìœ

M
„þ˜Äy

45. (b) 52 + 5 = 30, 62 + 6 = 42 :: 72 + 7 : 82 + 8 =
72
xíÅyê ö„þyöì̃ y ~„þ!Ýþ ˜Áºöìîûîû îöì†Åîû ¢öìD ˜Áºîû!Ýþ öëy† „þöìîû
¢›hßþ ˜Áºîû=!œ þ™yçëûy ö†öìŠéÐ

46. (d) 1 × 2 2 × 2

1, 2, 3 2, 3, 5 4, 5, 9
(1 + 2) = 3 (2 + 3) = 5 (4 + 5) = 9

47. (b) F  A  C  E
6  1   3   5

H  A  D
8   1   4

B A D G E
2 1 4 7 5

“þy£z A ~îû ö„þyvþ £öìî 1

48. (a) S U+2

A A
B

T

G

D

V

I

+2

+2

+2

O

A

E

O

A

E

E G+2

M M
E

G

N

G

I

P

+2

+2

+2

R

E

C

R

E

E
Y A+2

~„þ£z¦þyöìî

49. (d)

15 !„þ!›15 !„þ!›

8 !„þ!›

²Ìí› xîßþiy˜

5 !„þ!› 3 !„þ!›
10 !„þ!›

A B

A ~îû öŸ¡ì
xîßþiy˜

B ~îû öŸ¡ì
xîßþiy˜

50. (a) ²Ì”_ ˜Áºîû=!œîû ›öì•Ä ¢Á™„Åþ £œéôôôé
53 – 13 = 40
40 – 13 = 27
~„þ£z¦þyöìî–
39 – 13 = 26
26 – 13 = 13

51. (d) 8 ˜öì¦þÁºîû 2018 = (2017 + 1 ‹y˜%ëûy!îû 2018 öíöì„þ
8 ˜öì¦þÁºîû 2018)
2000 îŠéöìîû x!“þ!îû_« !”˜ = 0
17 îŠéîû = (4 x!•î¡ìÅ + 13 ¢y•yîû’ îŠéîûV
= (8 + 13) x!“þ!îû_« !”˜ = 0 x!“þ!îû_« !”˜
1 ‹y˜%ëûy!îû öíöì„þ 8 ˜öì¦þÁºîû þ™ëÅhsþ !”˜ ¢‚…Äy
= (31 + 28 + 31 + 30 + 31 + 30 + 31 + 31
+ 30 + 31 + 8) = 312 !”˜ = 4 x!“þ!îû_« !”˜
 ö›yÝþ x!“þ!îû_« !”˜ = (0 + 0 + 4) = 4
!˜öì’Åëû îyîû î,£ßþ™!“þîyîûÐ

52. (b) 5
53. (a)

54. (a)

55. (a) 1
56. (c) A £œ E ~îû !þ™!¢ xíÅyê A £œ E ~îû îyîyîû öîy˜ xíÅyê

A * B # EÐ ßþ™ÜT“þ£z– (c) ~îû ¢‚öì„þ“þ!Ýþ !˜öì”ÅŸ „þöìîûÐ

57. (d)
8 12 5 48

10
 



9 5 4 18
10
 



8 4 5 16
10
 



(58-59) :
þ™” îÄ!_«
CMD C
MD E
CEO A
CO D
SE B
JE F
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58. (d)
59. (a)
60. (b) Carbon £œ Diamond ~îû ²Ì•y˜ vþzþ™y”y˜Ð

~„þ£z¦þyöìî– Corundum £œ Rubyéôéîû ²Ì•y˜ vþzþ™y”y˜Ð
61. (b) 7 + 8 + 5 = 20

6 + 9 + 5 = 20
~„þ£z¦þyöìî– 3 + 7 + 1 = 11

 2 + 5 + 4 = 11
62. (b) 62 – 37 = 25

85 – 60 = 25
103 – 78 = 25
!„þlsþ 74 – 40 = 34  îy!„þ=!œ öíöì„þ xyœy”y

63. (c) 4 + 6 = 10 ~î‚ 10 + 5 = 15
~„þ£z¦þyöìî– 5 + 7 = 12 ~î‚ 12 + 6 = 18

64. (b) 6 × 7 = 42, 7 × 8 = 56, 8 × 9 = 72, 9 × 10
= 90

65. (a)
F H E G J L I K

+4
+4
+4

6 8 5 7 10 12 9 11

+4

P R O Q T V S U

+4
+4
+4

16 18 15 17 20 22 19 21

+4
66. (a) ²Ì”_ ¢y!îûöì“þ !“þ˜!Ýþ þ™ëÅyëûe«!›„þ ßþºy¦þy!î„þ ¢‚…Äyîû î†Å

!îþ™îû#“þ e«öì› ö”çëûy îûöìëûöìŠéÐ
67. (a) My = 3, favourite = 8, country = 4, India = 9

68. (a) 40 !›Ýþyîû

20 !›Ýþyîû

40 !›Ýþyîû

30 !›Ýþyîû

A

E

B C

D

AE = (AB – BE) = (AB – CD) = (30 – 20) =
10

69. (d) ö…œ˜y

îy!vþü

›y!Ýþ

70. (d) 27
71. (c) r2 = R2  r = R

rl = 2rh = 2r × 3  l = 6
¢%“þîûy‚ !“þëÅ„þ vþzF‰þ“þy = 6 !›Ýþyîûþ

72. (d) •!îû– }’ ö˜çëûy xíÅ = x

r = 
25 %
2

, t = 2

²ÌÙÀy˜%¢yöìîû–
225510 P 1 P

200
    
 

29510 P P
8

    
 

81P 17P510 P 510
64 64

    

510 64P 1920
17


  

¢îûœ ¢%” 
1920 2 25 480

100 2
 

 


73. (b) cot230° – 2cos230° – 
3
4 sec245° + 

1
4 cosec230°

     
2

2 2 23 3 13 2 2 2
2 4 4

 
        

 

3 3 13 2 2 4
4 4 4

                
     

3 33 1 1
2 2

      
 

74. (d) ²Ì”_ îûy!Ÿ

 
 

2 2

22

1 sin2(1 sin )(1 sin ) cos
(1 cos )2(1 cos ) sin1 cos

     
  

     

 
2

22 15 225cot cot
8 64

       
 

75. (c) öëy† „þöìîû þ™y£z ­
(A + B + C) + B = 238°  180° + B
= 238°
 B = (238° – 180°) = 58°
58° + C = 130°  C = (130° – 58°) =
72°

76. (c) •!îû– ‰þçvþüy = x ö¢!› ~î‚ œÁºy = 2x ö¢!›Ð “þy£öìœ
(2x – 5)(x + 5) – 2x × x = 75
 2x2 + 5x – 25 – 2x2 = 75  5x = 100
 x = 20
 ÷”‡ÅÄ = 40 ö¢!›

77. (c) ~…yöì̃  
7r
2

 ö¢!› ~î‚ h = 8 ö¢!›

ö‰þyöì̂ îû ¢›@ùÌ“þöìœîû öÇþešþœ = (2rh + 2r2)
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

22 7 72 r(h r) 2 8
7 2 2

             
 ö¢!›2

2322
2

   
 

ö¢!›2 = 253 ö¢!›2

78. (a) •!îû– ö†yœöì„þîû îÄy¢y•Å = r ö¢!›Ð “þy£öìœ

2 2224 r 5544 4 r 5544
7

     

 22 7r 5544 441 21 r 21
88

        
 

 ö†yœöì„þîû xyëû“þ˜ 34 r
3

 

4 22 21 21 21
3 7
      
 

= 38808 ö¢!›3

79. (a) ¢›ëû 100 1080 3
3000 12

    
 îŠéîû

80. (b) •!îû– ›)œ•˜ = ` xÐ “þy£öìœ

8 13 1 81x 1 x 1
100 2 100 2

            
   

2x 13x 81 16x 13x 8100
25 200 2

     

 3x = 8100  x = 2700
›)œ•˜ = ` 2700

81. (c) ²Ì”_ !›×öì’ ”%öì•îû þ™!îû›y’
7729
9

   
 

= 567 !›!œ

~£z !›×öì’ ‹öìœîû þ™!îû›y’ = (729 – 567) = 162 !›!œ
•!îû– ‹öìœîû !˜öì’Åëû þ™!îû›y’ = x !›!œÐ “þy£öìœ

567 7 1134 7x 1701
162 x 3

   


 7x = 567  x = 81
‹öìœîû !˜öì’Åëû ›yey = 81 !›!œ

82. (a) !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = x !„þ!›/‡^ùÝþy
ößþËyöì“þîû !”öì„þ †!“þ = (x + 1) !„þ!›/‡^ùÝþy
ößþËyöì“þîû !îþ™îû#öì“þ †!“þ = (x – 1) !„þ!›/‡^ùÝþy

       
35 35 1 1 1212

x 1 x 1 x 1 x 1 35
     

   

 
 

2
2

x 1 x 1 12 12x 12 70x
35x 1

  
    


 6x2 – 35x – 6 = 0  6x2 – 36x + x – 6
= 0
 6x(x – 6) + (x – 6) = 0
 (x – 6)(6x + 1) = 0

 x = 6
 !ßþiîû ‹öìœ ö˜ï„þyîû †!“þ = 6 !„þ!›/‡^ùÝþy

83. (a) •!îû– öÝþÆ̃  ”%!Ýþ A öíöì„þ x !„þ!› ”)îûöìc !›!œ“þ £öìîÐ “þy£öìœ–

 200 xx 1
80 100 2


 

 5x – 4(220 – x) = 200
 9x = 1080  x = 120
¢%“þîûy‚ öÝþÆ̃  ”%!Ýþ A öíöì„þ 120 !„þ!› ”)îûöìc !›!œ“þ £öìîÐ

84. (b) ö›yÝþ ”)îûc = (24 + 24 + 24) = 72 !„þ!›

ö›yÝþ ¢›ëû 
24 24 24
6 8 12

    
 

 ‡^ùÝþy

= (4 + 3 + 2) = 9 ‡^ùÝþy

†vþü †!“þöìî† 
72
9

 = 8 !„þ!›

85. (d) 1 ‹˜ þ™%îû&¡ì „þy‹ öŸ¡ì „þîûöìî = (3 × 18) = 54 !”öì̃
1 ‹˜ îyœ„þ „þy‹ öŸ¡ì „þîûöìî = (6 × 18) = 108 !”öì̃
(4 ‹˜ þ™%îû&¡ì + 4 ‹˜ îyœ„þVéôé~îû 1 !”öì̃ îû „þy‹

4 4 12 1
54 108 108 9

     
 

 4 ‹˜ þ™%îû&¡ì ~î‚ 4 ‹˜ îyœ„þ „þy‹!Ýþ 9 !”öì̃  öŸ¡ì
„þîûöìîÐ

86. (d) 0.02 ~î‚ 0.32 ~îû ›•Ä x˜%þ™y“þ

2 320.02 0.32
100 100

   

64 8 0.08
100 100 100

  


87. (c)
A A B C 3 5 8 10
D B C D 4 7 9 21

            
   

A : D = 10 : 21
88. (c) 3 îŠéîû þ™îû ö›!Ÿöì̃ îû ›)œÄ

310200000 1
100

     
   

9 9 9200000
10 10 10

     
 

= 145800 Ýþy„þy

89. (c) ¢#¢yîû ›yey 6050 30
100

    
 

 !„þ@ùÌy

!Ýþöì̃ îû ›yey = (50 – 30) = 20 !„þ@ùÌy
•!îû– !›!×“þ „þîûy ¢#¢yîû ›yey = x !„þ@ùÌy
ö›yÝþ !›×’ = (50 + x) !„þ@ùÌy

¢#¢yîû  
 
30 x

% 100
50 x


 


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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

²ÌÙÀy˜%¢yöìîû–
 
 
30 x

100 75
50 x


 



 30 x 75 3 4(30 x) 3(50 x)
(50 x) 100 4


      


 4x – 3x = 150 – 120  x = 30
¢#¢yîû !˜öì’Åëû ›yey = 30 !„þ@ùÌy

90. (b) •!îû– ›)œ ¦þ@Ày‚Ÿ
x
y

  ~î‚ 
x  115% 15
y 92% 16 


~îû
~îû

115x 15 x 115 15100
92 16 y 92 16y

100

 
   



x 15 92 3
y 16 115 4

     
 

x“þ~î ›)œ ¦þ@Ày‚Ÿ 
3
4



91. (d) (64)(2x–5) = 22 × 23(x–4)  26(2x–5) = 23x–12+2

 6(2x – 5) = 3x – 10
 12x – 30 = 3x – 10

 9x = 20  x =
20
9

92. (a)        0.16 0.180.16 0.18 4 2256 16 4 4  

   0.64 .64 .360.36 14 4 4 4 4    

93. (c) öÝþÆöì̃ îû †!“þ 
5 5060

18 3
    
 

!›Ýþyîû/ö¢öì„þuþ

!˜öì’Åëû ¢›ëû = (280 + 220) !›Ýþyîû x!“þe«› „þîûy ”)îûc

3500 30
50

    
 

 ö¢öì„þuþ

94. (b) ~Ýþy þ™!îûÜñyîû öë !m“þ#ëû !˜„þy!Ÿ ˜œ ö‰þïîyF‰þy!Ýþöì„þ 20 !›!˜öìÝþ
…y!œ „þîûöìîÐ

”%!Ýþ ˜œ 1 !›!˜öìÝþ !˜„þyŸ „þöìîû 
1 1 3
40 20 40

    
 

¦þ!“Åþ ö‰þïîyF‰þy …y!œ £öì“þ ¢›ëû ö˜öìî 
40 113
3 3

   !›!˜Ýþ

95. (a) A = 
1
2 (B + C)  A : (B + C) = 1 : 2

 A ~îû ¦þy† 156250 18750
3

    
 

 Ýþy„þy

B = 
1
4 (A + C)  B : (A + C) = 1 : 4

 B ~îû ¦þy† 156250 11250
5

    
 

 Ýþy„þy

 ( A – B) = (18750 – 11250) = 7500 Ýþy„þy

96. (c) •!îû– !m“þ#ëû Šéyvþü = x%– “þy£öìœ
3200 ~îû 90% ~îû (100 – x)% = 2448

 100 x903200 2448
100 100


   

  5100 x 2448 85
144

      
 

 x = (100 – 85) = 15
¢%“þîûy‚ !m“þ#ëû Šéyvþü = 15%

97. (d) •!îû– AB = x ö¢!› PC = PD + CD = (4 + 3) =
7 ö¢!›
PA × PB = PC × PD  8 × (8 – x) = 7 × 4
 64 – 8x = 28

 8x = (64 – 28) = 36 
36x 4.5
8

  

¢%“þîûy‚ AB = 4.5 ö¢!›
98. (c) BC = CD  BDC = CBD = 25°

BCD ö“þ CBD + BDC + BCD = 180°
 25° + 25° + BCD = 180°  BCD =
130°
~…˜ BAD + BCD = 180°
[ ABCD ~„þ!Ýþ î,_ßþi ‰þ“%þ¦Å%þ‹]
BAD + 130° = 180°  BAD = 50°

99. (b) D ~îû £z!“þ£y¢ ~î‚ ¦)þöì†yöìœ ²Ìy® ö›yÝþ ˜Áºîû

80 6260 40
100 100
         
   

= (48 + 24.8) = 72.8
ö›yÝþ ˜Áºîû = (60 + 40) = 100
!˜öì’Åëû % = 72.8%

100.(d) !îKþyöì̃  ¢›hßþ Šéyöìeîû ²Ìy® ˜Áºöìîûîû öëy†šþœ

82 85 72150 150 150
100 100 100
                
     

80 68 90150 150 150
100 100 100
              
     

= (123 + 127.5 + 108 + 120 + 102 + 135) =
715.5

!˜öì’Åëû †vþü ˜Áºîû 
715.5 119.25

6
 


